GeARR 5% X LB R ALEEIR R
A6 4E 2 AR
F5 HETH Lo ERRE .
S

1-1 FeARAT 5B EXK - FER (L0 orbdTED) 3kg 6,500 1]
1-2 55 &K - FK (CLMP) o b¥ilEb) 5kg 11,000 F4
1-3 55 &%k - #ﬁﬂé( LOBY orb2kC¥b) 10kg 21,500 4
1-4 55K AEK (LMY o bERTED) 25 kg 50,000 [
1-5 ZECYVOE ABEEEE 6 BHRY 13,000 F9 | KA (hkbil) ek
1-6 TECYVOE ABEESE 12HBHRY 25,000 FJ | KA CheefbE) [mEs
1-7 : = 5 = 8,500 | 7HFa—~8H+4
1-8 (HARIRRE] EIREFE L £ L 4kg 5,500 [ | 7 Ad~9 A Ty
2-1 | seAR#ERER | DBEELLPSE72 1w b 18,000 4
3-1 HIRRE DAZTYa—R 140X2FK 6,500 [ | 10 A Ftj~2 A T4
4-1 _yvay | RvyaVEORLTIERE 76,000 [

J&\ D 7 (—H2&f& BBQa—x)
4-2 RV v a VROKRRTERE 1A28M%) 69,000 [
4-3 _vyva vEAOHFEER 1EEL (154&%%0) 95,000 4 | s&HiETH
5-1 FRODIE ~TEBEBFES (1H2E81 %) 95,000 M
5-2 IRy E 1 BRRIEEIBRER (1IH2 RN %) 58,000 F9 | 12 A~3 A ominmE
6-1 Ptk | EZRALYIE2—L2A 6,500
6-2 TR Fry 72K 6,500 [
6-3 Y ¥y 71 Ax& I bEa—L1&K 6,500 [
7-4 rYFrv73K& T Ea—L 3K 17,000 9
7-5 TN—RY =V Y L&bI VT Fry 7& b~ 11,000

FPa—x3KEY b

7-6 F=FY2—X180mlX5 & 6,500 [
7-7 F= b 2—X180mlX 10 A& 12,000 M
7-8 F= b 2—X 180mlX20 A& 23,500 1
7-9 F= b a—2720ml%x2 A& 8,000 [
8-1 | Av FY—7 | FEX T FMH 120cc 3 K 22,000 [

25 & FMoEY 3EEE Y T 5,500 [




e AR 5% S Ll RALAEIR AL

A6 4E 2 AR
9-1 | mRr2t vz | RTEHASE (VB BRIIZA) 58,000 [ | @ - Aizttz
9-2 POLEPOLE | 7 fE{H% (¥ & : BBQ) 69,000 [ | @i - Adnsft
9-3 14ME0% YR BRIIFA) 30,000 [ | @it - Aintt
9-4 4 ZRRFEESS: - KB (Y& BRIIZA) 112,500 [ | @it - Aiassfd &
9-5 4 ZRRMEIRE - KR (Y& : BBQ) 133,000 [ | s - Ainsff
9-6 ABYa—R750ml 2% 6,500 [
10-1 LR TRN—RY — % 5 180g % 5 ff 11,000 4
10-2 TRN—RY — % 5 180gx 10 & 21,500 1
10-3 TN—Y —FFY A3 AD 6,500 [
11-1 Mirabelle | 3BH% 24KFT¥Y—FFI v ofF% 16,000 [ | 4 A Ef~10 A T4
11-2 | (370 | BREH 14TV FF I v o4& 8,500 '] | 4 A Lf1~10 A4
11-3 FEVREY ——Y G2tV )V 3K2497) 16,000 [ | po@afny
11-4 FEYVBEY —k— (IV-F-X-351:ty7) 16,000 [
11-5 FEYVBEY —— (IVF-R352797) 16,000 [ | ¢y
11-6 FEVBEY ——Y (VETZ 382,90 7) 16,000 [ | =% v x— F7nk
11-7 FEVBEY ——T 48 GEK4v72) 32,000 4
11-8 FEVBREY ——Y (BK: 3EK2.%y2) 17,000 9
11-9 FEV Y —— (258321 3K2-<v7) 17,000 [
12-1 | 2xwyit | 148H%F (LHA2E8M%) 39,000 4
13-1| o2& | HREH3,000 5 11,000 4
13-2 BREHEZ 6,000 45> 22,000 [
14-1 Hoz Mmoo TR T L — 58,000 ]
15-1 Y NOE = ay—%vrza=—21HMEZEX 3K 11,000
15-2 ay—% v za_—21HMEZEX 5K 18,000 [
15-3 a7 —F v x_—21HFF&%X10# 36,000 [




